. 3:1:‘.4'2\};:7 = 2y= -3x+7
y = -/.5x + 35
Compare  with y = rx + b s
M= - L5 b= 3.5 :t—fn'f"e,rgﬂp'f' obfauned L)f se{ﬂ'mj,
y=0-
O= -15x+35

5x* 3.5 = xz 35.
h5%, s
12 (x,,y) = G1L,6) and (x,, v,) (2~ |

m= slope= YoV = —-9-6 _ -15 _
P '5%2_-1, 2-(-1y 3 @

y = mxX + b = b= vy - ox,= 6 -(_5X_,)=®
= — 5> 4] so when = = 1 =
y y=0, x= 1

13. @ L= 180° & O+ 2o°+ 75°= 180°
O+ 30°+90°= 180° = 180"~ 75°-20°
0= 1%0°-90™30° = (60°) -
© 37°+ g = 9°
# ~ (0= 37°

7 and g+8= 90°
7

}Lf' /3: 95" (oPPoji+e- Mjl::)

o+ 95°+35°= |§0° => = 50
9+ p+35°= 180°
©+95°+35° =180° = 0= 5

Ns gee smmlcr simce -Hmz %UJ
omgles, so catias of mrrespgnd.m
s:des ore  egual:

.2 _ 20
2= B > ax- o > (X233



